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FILE *gid;

gid=popen("gnuplot","w");

fprintf(gid,"gnuplot 00 00O \n");
fflush(gid); <-- 000000

pclose(gid); )
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gcc -o exl exl.c -1m
./ex1
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#include <stdio.h>

#include <stdlib.h>
#include <math.h>

int main(int argc, char **argv)
{

FILE *gid;

int i;

double x;

gid=popen("gnuplot","w");
for (i=0; i<100 ;i++){
x = 0.03%i;
fprintf(gid,"plot sin(x-%f*pi)\n",x);
}
pclose(gid);
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{

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

int main(int argc, char **argv)

FILE *gid, *fid;

int i,j;

double x,y,z,t;

char *data={"test.dat"};

gid = popen("gnuplot","w");
fid = fopen(data,"w");
for (i=0; i<20; i++){

z = exp(0.05%i);
for(j=0; j<=36; j++){
x = zxcos(M_PI/18%j);
y = z*xsin(M_PI/18%j);
fprintf (fid,"%f %f %f\n",x,y,z);

fprintf (fid,"\n");
}
fclose(fid);

fprintf(gid,"set hidden3d\n");

fprintf(gid,"set ticslevel 0\n");

for (i=0; i<=30 ;i++){
fprintf(gid, "set view %d,%d,,\n",30+2%i, i);
fprintf(gid, "splot ’%s’ w lines \n", data);
fflush(gid);

¥

fprintf(gid, "pause 3\n");

pclose(gid);
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#include <stdio.h>
#include <math.h>

#define DIV 71

FILE *gid;
int i,j, gout;

/* 0000 =/

ulil [j]1=0.0;

}

for (i =

#ifdef V38I

fprintf (gid, "set

fprintf(gid,"set
#else

fprintf (gid, "set
#endif

fprintf(gid,"set
fprintf(gid,"set
fprintf (gid, "set
fprintf(gid,"set
fprintf (gid,"set
fprintf(gid,"set
fprintf(gid,"set

if (argc>2) EPS =

#include <stdlib.h>

#define INTERVAL 30

main(int argc, char **xargv)

atof (argv([1]);

for (i = 0; i < DIV; i++){
for (j = 0; j < DIV; j++){

gid = popen("gnuplot38i","w");

pm3d\n") ;

fprintf (gid,"unset colorbox\n");
fprintf(gid,"set palette rgb 8,2,8\n");

size square\n");

gid = popen("gnuplot371","w");

size 0.7,1.1\n");

view 60,345\n");
xtics 0.2 \n");
ytics 0.2 \n");
ticslevel 0\n");
contour\n");
nokey\n") ;

size square\n");

double cmax, corr, EPS=1e-5, u[DIV][DIV];
double MESH=1.0/DIV;

0; i < DIV; i++) u[i][DIV-1]=1.0;
/* for (j = 0; j < DIV; j++) ulDIV-1][jl=1.0; */

/* Relaxation 00000000 */
while(1) {

gout++;

cmax=0.0;

for (i = 1; i < DIV-1; i++){

for (j = 1; j < DIV-1; j++){
corr = (uli+1][jl1+uli-1][j1+uli] [j+1]
+ulil [j-11)/4.0 - ulil[j];
if ( fabs(corr) > cmax ) cmax = corr;

ulil[j] =
}
}
if ( cmax < EPS ) break;
if (gout % INTERVAL != 0) continue;

ulil [jl+corr;

fprintf(gid,"splot ’-’ w lines"); /* OO x/
for (i = 0; i < DIV; i+=2){
fprintf(gid,"\n");
for (j = 0; j < DIV; j+=2){
fprintf(gid,"%e %e %e\n",i*MESH, j*MESH,ul[i]l[j1);

}
fprintf(gid,"e\n"); /* 000000000 */
}

/* 000000 gnuplot OO OO=/
fprintf(gid,"set cntrparam levels incre 0,0.05,1\n");
fprintf(gid,"set nosurface\n");
fprintf(gid,"set view 0,0\n");
fprintf(gid,"set noclabel\n");
fprintf(gid,"splot ’-’ w lines 1t 2\n");
for (i = 0; i < DIV; i++){

fprintf(gid,"\n");

for (j = 0; j < DIV; j++){

fprintf (gid,"%e %e %e\n",i*MESH,j*MESH,u[i][j1);

}

fprintf(gid,"e\n");
fprintf (gid, "pause 60\n");
pclose(gid);

000000000000000D00 Relaxation JO0O000O0O




gooooooooOooooboOoOooooboOooooOoboOoOoooo
gooooooboooooooooooooOooooooboobooboo

Ap(r) =0, ¢(09Q) : given

gooooooooo 100000 o=10000000 ¢=0
goooOoOoOO00O0000000000000008 Relaxation O
goooboooooooOoOoOooooOoOoOoOoooboOoOooooo
gooooooooooooooo

1
Dij = 1 (¢i—1,j—1 + dit1,5-1

+oi—1,541 + ¢i+1,j+1>

0ooo0oooOoobo0o0O0OO0bOOoOb0O0O0000O0O00o000O0
000000000000 00O0Excel DODOODOOODOODODOO
0ooo0oooDOoo0oOoo0oOooooDOooOOOoooooOooooo
00000000000000000 ¢(z,y) 0 20000000
0oooooobooo0ooo0ooboo0ooOoooooDooooo
000000000000000000000000000gnuplot
O contour 0000000000000 00O0O0OO0O0DOOOOO
0400000000 3810000000 pm3dOOO0OOOO
0000038 00 splot 00000 set size square JO 00O
ooooooo

[=l Guaplot X

0 4 Relaxation 0000000000000 OO0OO

gobbobooooboo

00000000000 0ooO000o0oo0ooooooon
000000000000 0O0gnuplot 0O0O0OODODOOOOOO
gooo0o0oOoUoUooOooOoOoOoOoDUOUOOoDOOOoOOOOOoO
J00000000o00oU0oo0o0O00U0O0 4000000000
Joo0ooDoOooooD 3.710000000000000000OO
000 40000000000000000 3800000000
gooooo [4jW:;IDDDDDDDDDDDDDDDDDDDDD
0000 pm3ddO000O0O0OCOODOODOOOOOOOODOOOO
gooooooooooo
0000 40 ex4.c

=] funiat
0 0.1 0.2 0.2 0.4 0.5 0.6 0.7 0.8 0.9

Top-Right

2,5

1.5

Bottom-Left —

05 0bObooooooboocoooo

(
#include <stdio.h>
#include <stdlib.h>
#include <math.h>

int main(int argc, char **argv)
{

FILE *gid;

int 1i,j;

double x;

gid = popen("gnuplot -geometry 512x384","w");
fprintf(gid, "set yrange[1:3]1\n");
fprintf(gid, "set y2range[0:1]\n");
fprintf(gid, "set y2tics \n");

fprintf(gid, "set x2tics \n");

fprintf(gid, "set xtics nomirror\n");
fprintf(gid, "set ytics nomirror\n");

for (i=0; i<20; i++){
fprintf(gid, "plot ’-’ t ’Bottom-Left’ w lines, \
’=> t ’Top-Right’ axis x2y2\n");
for (j=0; j<100; j++){ /x O0O0DOOOO =%/
x = 0.02%j;
fprintf(gid,"%e %e\n",x,1+i*0.1/(1+x*x));

fprintf(gid,"e\n"); /* DOO0OOO0OO */

for (j=0; j<100; j++){ /x DOODOOOO =/
x = 0.01%j;
fprintf(gid,"%e %e\n", x, 1-exp(-(i*0.1)*x));

fprintf(gid,"e\n"); /* 0000000 =/
}
fprintf (gid, "pause 60\n");
pclose(gid) ;
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